Lesson 5: John 2:1-11

1. Chapter 2 Theme: Jesus His

2. Sign #1:

a. What is the Jewish marriage custom (Genesis 29:15-23)?

1) The are made, usually by the parents.
2) The bride’s is paid.

3) The period of begins.

4) The wedding and

5) The marriage is

b. Why was Jesus at the wedding?

1) By being there, Jesus is demonstrating His of the marriage covenant.
2) By being there, Jesus is demonstrating His to the marriage covenant.
3) By being there, Jesus is demonstrating His of the

marriage covenant.

4) By being there, Jesus is His mother.

c. What is John trying to show us about Jesus through this miracle?
1) Read verses 6-10.

2) Why did Jesus choose to fill all six waterpots?

3) Jesus is the
a) What was the result of/reaction to the quality provided by Jesus?

b) What door does the quality of life that only He can provide open to us? Read 1

Peter 3:15 —i.e., who do the servants that delivered this new wine represent and

what opportunity was opened to them?

d. Why did Jesus perform this miracle?



1) Read verse 11.
2) Jesus performed this and every other miracle for the same two reasons:

a) He performed this miracle for

b) He performed this miracle for

¢) Read 2 Corinthians 4:15.

3. The Pattern:

a. The first weave of the pattern is the (verse 3).
b. The second weave of the pattern is the (verse 4).
c. The third weave of the pattern is the (verse 5).
1) always gets Jesus’s (Matthew 8:5-10).
2) is the means to becoming a (Matthew
8:11).
3) is the key that unlocks the (Matthew
8:13).
d. The fourth weave of the pattern is the of the person’s (verses 7-9).

4. Homework: Study Exodus 12 in order to become familiar with the procedure and purpose of
the Passover feast.



